[ARXERER)ERFI B R #R BRI TR ES2RARHETHFEDIFX LT KR &N—TIYFYVKRE

2km INFESEFEE LT F 202441 R218(B)

=i B AL EFL (i~ ECE%

NEAL
1 1015 7 %3 HEELISD 074> 30%)
2 1005 AR HH FEEREE £ 0743 38%)
3 1007 Sl ket FEEREE £ 075354%)
4 1014 AE =i HEELIST 084>03%)
5 1003 EB KR P WA 084329%)
6 1006 BE 24Tt FEERfE £ 0843 49%)
7 1004 N 1= AT R—k 0843>56%)
8 1013 B Bk —2BERE 0943007
9 1012 B Z5 AERS1=T 094>09%)
10 1001 =@ YUS AlgREE 095322%)
11 1016 B B nmJrLseH—x 094323%)
12 1002 Bk KB AlghE b 0943 23%)
13 1010 E=RECES KFEFEHRR—Y D EH 0943 48%)
14 1009 Bl #&H NAVY3 1093275
16 1008 BME HFax NAVY3 Bl 53

15 1011 &t AEERDL=T FefE 53 7



